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1 128,162 128,163
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1 115,012 1,624 113,388
111,517 1,624 109,893

3 789,228 0 789,228
557,842 0 557,842

178,977 0 178,977

52,409 0 52,409

6 52,856 370 53,226
20,536 370 20,906
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3,210 51,984 55,194
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10 382,353 29,638 352,715
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1 115,012 1,624 113,388 1,624 0
3 789,228 0 789,228 19,538 19,538
6 52,856 370 53,226 0 370
9 10,465 51,984 62,449 51,984 0
10 10,000 21,794 31,794 28,626 6,832
3,893,000 72,524 3,965,524 98,524 26,000




1 506,000 26,000 480,000 26,000
346,000 26,000 320,000
346,000 26,000 320,000
346,000 26,000 320,000
506,673 26,000 480,673
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1 354,339 1,624 352,715 1,624
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109,542 1,624 107,918 1,353
1,624 46,699 1,353 = 45,346
46,699 1,353 = 45,346
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1,014 433 = 581
1,014 433 = 581
893 778 = 1,671
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19,586 639 = 18,947
7,528 48 = 7,576
7,528 48 = 7,576
31,924 58 = 31,866
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111,517 1,624 109,893 1,624
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1,426 1,426
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1,426
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178,977 178,977
6,477
6,477
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102 + 370 = 472
114 + 370 = 484
147 + 370 = 517
20,536 370 20,906 0 370
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0+ 2,798 = 2,798
0+ 48,984 = 48,984
0+ 48,984 = 48,984
3,210 51,984 55,194 51,984 0
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